

On a sequence attached to powerful numbers: an elementary proof

Tippawan Puttasontiphot

Department of Mathematics Statistics and Computer Science
Faculty of Liberal Arts and Science
Kasetsart University Kamphaengsan Campus
Nakhonphratom, Thailand

email: faastwpu@ku.ac.th

(Received March 13, 2022, Accepted April 15, 2022)

Abstract

In this paper, we use a strictly elementary method to prove some results of Copil and Panaitopol [1] and we give a general form of their results.

1 Introduction

A natural number n is called powerfree if $p \mid n$, then $p^2 \nmid n$. A natural number n is called powerful if $p \mid n$, then $p^2 \mid n$. For every powerful number k , let c_k be the least positive integer such that kc_k is a square. In [1], Copil and Panaitopol studied some properties of the sequence of $(c_k)_{k \geq 1}$ and derived the following results:

$$\sum_{\substack{k \leq x \\ k \text{ powerful}}} c_k = \frac{3}{\pi^2} \zeta\left(\frac{4}{3}\right) x^{2/3} + O(x^{1/2} \log x), \quad (1.1)$$

$$\sum_{\substack{k \leq x \\ k \text{ powerful}}} c_k^2 = \frac{x}{3} + O(x^{5/6}), \quad (1.2)$$

Key words and phrases: square-free number, square-full number

AMS (MOS) Subject Classifications: 11N25, 11N60.

ISSN 1814-0432, 2022, <http://ijmcs.future-in-tech.net>

and

$$\sum_{\substack{k \leq x \\ k \text{ powerful}}} \frac{1}{c_k} = \frac{\zeta\left(\frac{5}{2}\right)}{\zeta(5)} x^{1/2} + O(\log x). \tag{1.3}$$

In [3], Golomb proved that every powerful number can be written uniquely as n^2m^3 , m is square-free. It follows immediately that c_k is its square-free part. We shall use this fact with the partial summation formula to give elementary proofs of (1.1)-(1.3). Moreover, we use this to generalize the formula (1.1)-(1.3). We obtain the following results:

Theorem 1.1. *For $\alpha > \frac{1}{2}$, we have the relation*

$$\sum_{\substack{k \leq x \\ k \text{ powerful}}} c_k^\alpha = \frac{6}{(\alpha + 1)\pi^2} \zeta\left(2(\alpha + 1)/3\right) x^{(\alpha+1)/3} + \begin{cases} O(x^{\alpha/3+1/6}), & \text{for } \alpha > 1; \\ O(x^{1/2} \log x), & \text{for } \alpha = 1; \\ O(x^{1/2}), & \text{for } \frac{1}{2} < \alpha < 1. \end{cases} \tag{1.4}$$

For $\alpha < \frac{1}{2}$, we have the relation

$$\sum_{\substack{k \leq x \\ k \text{ powerful}}} c_k^\alpha = \begin{cases} \frac{\zeta(3/2-\alpha)}{\zeta(3-2\alpha)} x^{1/2} + O(x^{(\alpha+1)/3}), & \text{for } \alpha < \frac{1}{2}; \\ \frac{6}{\pi^2} x^{1/2} \log x + O(x^{1/2}), & \text{for } \alpha = \frac{1}{2}. \end{cases} \tag{1.5}$$

2 Some preliminary Lemmas

We need the following Lemmas:

Lemma 2.1 (See in [2]). *For $x > 1$, we have*

$$Q(x) = \frac{6}{\pi^2} x + O(x^{1/2}),$$

where $Q(x)$ denotes the number of square-free integers $\leq x$.

Lemma 2.2. *For $x > 1$, we have*

$$\sum_{m \leq x} |\mu(m)| m^\alpha = \begin{cases} \frac{6}{(\alpha+1)\pi^2} x^{1+\alpha} + O(x^{\alpha+1/2}), & \text{for } \alpha > -1; \\ 6\pi^2 \log x + O(1), & \text{for } \alpha = -1; \\ \frac{\zeta(\alpha)}{\zeta(2\alpha)} + O(x^{1+\alpha}), & \text{for } \alpha < -1, \end{cases}$$

where $|\mu(m)|$ denotes the characteristic function of the set of square-free number.

Proof.

Using Lemma 2.1 and the partial summation, it follows that:

3 Proof of (1.1)-(1.3)

Proof of (1.1). Since every powerful number can be written uniquely as n^2m^3 , m is square-free, we can write

$$\sum_{\substack{k \leq x \\ k \text{ powerful}}} c_k = \sum_{n^2m^3 \leq x} |\mu(m)|m = \sum_{n \leq x^{1/2}} \sum_{m \leq x^{1/3}n^{-2/3}} |\mu(m)|m.$$

In view of Lemma 2.2, we have

$$\begin{aligned} \sum_{\substack{k \leq x \\ k \text{ powerful}}} c_k &= \sum_{n \leq x^{1/2}} \left(\frac{3}{\pi^2} x^{2/3} n^{-4/3} + O(x^{1/2} n^{-1}) \right) \\ &= \frac{3}{\pi^2} x^{2/3} \sum_{n \leq x^{1/2}} n^{-4/3} + O(x^{1/2} \left| \sum_{n \leq x^{1/2}} n^{-1} \right|). \end{aligned} \tag{3.6}$$

Note that

$$\sum_{n \leq x^{1/2}} n^{-4/3} = \zeta(4/3) + O(x^{-1/6}) \quad \text{and} \quad \sum_{n \leq x^{1/2}} n^{-1} = O(\log x). \tag{3.7}$$

Then (1.1) follows from (3.6) and (3.7). □

Proof of (1.2). As in the proof of (1.1), we write:

$$\sum_{\substack{k \leq x \\ k \text{ powerful}}} c_k^2 = \sum_{n^2m^3 \leq x} |\mu(m)|m^2 = \sum_{n \leq x^{1/2}} \sum_{m \leq x^{1/3}n^{-2/3}} |\mu(m)|m^2.$$

In view of Lemma 2.2, we have

$$\begin{aligned} \sum_{\substack{k \leq x \\ k \text{ powerful}}} c_k^2 &= \sum_{n \leq x^{1/2}} \left(\frac{2}{\pi^2} x n^{-2} + O(x^{5/6} n^{-5/3}) \right) \\ &= \frac{2}{\pi^2} x \sum_{n \leq x^{1/2}} n^{-2} + O(x^{5/6} \left| \sum_{n \leq x^{1/2}} n^{-5/3} \right|). \end{aligned} \tag{3.8}$$

Note that

$$\sum_{n \leq x^{1/2}} n^{-2} = \zeta(2) + O(x^{-1/2}) \quad \text{and} \quad \sum_{n \leq x^{1/2}} n^{-5/3} = O(1). \tag{3.9}$$

Then (1.2) follows from (3.8), (3.9) and $\zeta(2) = \frac{\pi^2}{6}$. □

Proof of (1.3). As in the proof of (1.1), we write

$$\begin{aligned} \sum_{\substack{k \leq x \\ k \text{ powerful}}} \frac{1}{c_k} &= \sum_{n^2 m^3 \leq x} |\mu(m)| m^{-1} = \sum_{m \leq x^{1/3}} |\mu(m)| m^{-1} \sum_{n \leq x^{1/2} m^{-3/2}} 1 \\ &= \sum_{m \leq x^{1/3}} |\mu(m)| m^{-1} \left(x^{1/2} m^{-3/2} + O(1) \right) \\ &= x^{1/2} \sum_{m \leq x^{1/3}} |\mu(m)| m^{-5/2} + O\left(\left| \sum_{m \leq x^{1/3}} m^{-1} \right| \right). \end{aligned}$$

Then (1.3) follows from Lemma 2.2. □

4 Proof of Theorem 1.1

First, we prove (1.4) by using the same method as in the proof of (1.1). For $\alpha \geq 1$, we write

$$\sum_{\substack{k \leq x \\ k \text{ powerful}}} c_k^\alpha = \sum_{n^2 m^3 \leq x} |\mu(m)| m^\alpha = \sum_{n \leq x^{1/2}} \sum_{m \leq x^{1/3} n^{-2/3}} |\mu(m)| m^\alpha.$$

In view of Lemma 2.2, we have

$$\begin{aligned} \sum_{\substack{k \leq x \\ k \text{ powerful}}} c_k^\alpha &= \sum_{n \leq x^{1/2}} \left(\frac{1}{\alpha + 1} \frac{6}{\pi^2} x^{2/3} n^{-2\alpha/3 - 2/3} + O(x^{\alpha/3 + 1/6} n^{-2\alpha/3 - 1/3}) \right) \\ &= \frac{1}{\alpha + 1} \frac{6}{\pi^2} x^{2/3} \sum_{n \leq x^{1/2}} n^{-2\alpha/3 - 2/3} + O(x^{\alpha/3 + 1/6} \left| \sum_{n \leq x^{1/2}} n^{-2\alpha/3 - 1/3} \right|). \end{aligned} \tag{4.10}$$

From $\frac{2(\alpha+1)}{3} \geq \frac{4}{3}$, for $\alpha \geq 1$, we have

$$\sum_{n \leq x^{1/2}} n^{-2\alpha/3 - 2/3} = \zeta\left(\frac{2(\alpha + 1)}{3}\right) + O(x^{1/6 - \alpha/3})$$

and (4.11)

$$\sum_{n \leq x^{1/2}} n^{-2\alpha/3 - 1/3} = \begin{cases} O(1), & \text{for } \alpha > 1; \\ O(\log x), & \text{for } \alpha = 1. \end{cases}$$

Then the first two cases of (1.4) follow from (4.10) and (4.11). The last case of (1.4) follows from (4.10) and the following fact:

For $\frac{1}{2} < \alpha < 1$,

$$\sum_{n \leq x^{1/2}} n^{-2\alpha/3-2/3} = \zeta\left(\frac{2(\alpha+1)}{3}\right) + O(x^{1/6-\alpha/3}), \quad \sum_{n \leq x^{1/2}} n^{-2\alpha/3-1/3} = O(x^{1/3-\alpha/3}).$$

For $\alpha \leq \frac{1}{2}$, we write

$$\begin{aligned} \sum_{\substack{k \leq x \\ k \text{ powerful}}} c_k^\alpha &= \sum_{n^2 m^3 \leq x} |\mu(m)| m^\alpha = \sum_{m \leq x^{1/3}} |\mu(m)| m^\alpha \sum_{n \leq x^{1/2} m^{-3/2}} 1 \\ &= \sum_{m \leq x^{1/3}} |\mu(m)| m^\alpha \left(x^{1/2} m^{-3/2} + O(1) \right) \\ &= x^{1/2} \sum_{m \leq x^{1/3}} |\mu(m)| m^{\alpha-3/2} + O\left(\left| \sum_{m \leq x^{1/3}} m^\alpha \right| \right). \end{aligned}$$

Then (1.5) follows from Lemma 2.2.

Acknowledgment. The author is very grateful to the anonymous referee for his/her valuable remarks.

References

- [1] Copil Vlad, Laurențiu Panaitopol, A sequence attached to powerful numbers, *Bull. Math. Soc. Sci. Math. Roumanie*, **50**, no. 3, (2007), 249–258.
- [2] Leopold Gegenbauer, Asymptotische Gesetze der Zahlentheorie, *Denkschriften Akad. Wiss. Wien*, **49**, (1885), 37–80.
- [3] Golomb Solomon, Powerful numbers, *Amer. Math. Monthly* **77.8** (1970), 848–852.